
Example Problem 1 – Geometric Transformation



Example Problem 2 – Geometric Transformation



Example Problem 3 - Generation of Projection View
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Example Problem 4 Generation of Projection View

parallel



Example Problem 4 Generation of Projection View



Example Problem 5 – Half Space, Solid Modeling

Union IntersectionsIntersections



Example Problem 6 – Optimization

A design optimization problem is formulated as
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• Rearrange this formulation into the standard form for 
design optimization

• Find the close-form solution of the unconstrained 
ti i ti ith d i t i toptimization with no design constraints

• Graphically illustrate the solution of the design 
optimization and identify the solution of the original 
constrained optimization problemconstrained optimization problem



Example Problem 6 – Optimization

Rearrange this formulation into the standard form for design 
optimization 
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Example Problem 6 – Optimization

Find the close-form solution of the unconstrained 
optimization with no design constraints
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This is the solution without considering the constraints!
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This is the solution without considering the constraints!



Example Problem 6 – Optimization

• Graphically illustrate the solution of the design optimization and 
identify the solution of the original constrained optimization problem

X2
X2= X1+1

X1+ X2<=2
X1=>0

X1
X2=>0

X*1=0; X*2=1


